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Vechor Alebra 

x(?:) 12!l21 
Sea lar de Procnet 

+x+ (Ga o)ix} 
leta,Crand e ay 3ectovs(,Then, (a 6).T is called seala 

bple produet of , G angl, E g 

b 

2 

fparHes 

Oax). (Exa)a (Exa)5 (oye'e) 

ab).
 = . (Cxa) 

Ca a EJ= [ab� 5aa-O. 

If ,5, are coplanar tha a6E= O. 

Volme of tevahedon ( a,6, ae cides wih Sana vti ), 

Voluve of poralldopped, ate coeminal edges ore a,6,�E, 
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Ans LHS P-+«(7+F)+ 7)«(r+) 
FLi (+F)+ix (¥+F)]+ [4* (F+F)+ T(F+#]. 

F 1 +(^F)+ (Tx7)+ (**F) 

But CF1 Cf J oyele) 
LHS 2 C F 

Hence rored 

Vector Tiple Rrodutk 

Let , b,Cbe ay 3vectorr. Ten vectov taple Probuet 
of a,6,cis (ax 6) xa 

a6)x = a.a)6-(6-a)a 

'o 
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Ob,e ae Coplanar vectors;, en prove that Cax5,(6xa) One also oplanar vetto. 
AnsGen 

2 

we neeato Pvove axb bxe Ex�j=o 

(xb).|(x
)x (E x�)=O 
Let 

. (�x5). Eke)x 
= (axE):(6m-(E m53E 

axb)-(6 (Era)e (E(Ea) 

Scalav 

a 5E(axb) E) 

But a 5 e]=o 

a 5x x�)=O 
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q.Shos tet dx (ak5) axa)a baa.a) 

Pms. LAS= (a5)(aa)5(x) 

-6)-((aa)E]-( ) 
Sala cald 

- fa-5)a(axa)) - (a JGa) 
O 

s-CCac]a d) 
-[a a 6 d) ) 

(a b .(aa) RH 

Hence voed. 

. 
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PAGEN 

x(Gxa)«CE�)a:(ExE] 

ww. 
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o.Vecto ,, 

ax), (Vxa), (sxk) ane also non-Coflona. Hence 

Otain Scalar L, m,n such that tE( 

- L(vxa) tm (5x t)+n (kxv) 

fM At pa part Jame as 

are non= coplano en shou thot. 

reshbn o Pege 93. 

Takang 2d at 
x)+ m (xk) *n(T <v) 

..- xo).k+ m( Ku).T tn (kx)-u 

.l u.u 

Salar, u-V M 
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Scalar froduct of yectors 

(a5-Ea) T called Sealor Poduet o 4, vectovs 
and s gen by 

ax 5)(�x�) = a.a 5 
6. 

-Lagrange's Tdertty 

)x 
Q.Aove that (ax 6).(Exd)+ (5xa). (�xal) 

+(Exa) (6«a)-o 
he AS=|�-c 5-e|+ |5-a a+c:5 a-5| la 3 5a l5a (tabea a-aal 

+( E.a) - (ba)E.aT 
+ (- a)-(cd Ya.s) 

- O(all erm get Cancelleo) 
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Vechor roouct of u Vectors ,' 

(ax6)x (Exd) . i veoty produtt ot 4 vectos. 

ax5x (Exa) = [aa a]6 -[6EJ]a| 
[a 5 a]E - [� b�a 

kove Cax5x(ax a = (a.a)lab� 
D)(5xd)+(kx 

ArcAS-(Ca � c]5-6o.a).d 

3Hene Pmed. 
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ax [x CExaJ= (6 a) a ca 

MsLHS -3ax (6-JE- (5-a)a 
= a.C6a) (�ka)-(5a)(�xd)] SMCL 6-dond 

6 ae Scaorr 
arties 

(6a)s[dxa))- (6.2)a.(axdy 

(6)fa a a] ens 

HemeeEored.d lcooits ni 

rit 

vttavf aed 39vid Lv3 

2 i' nd2 
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